Neme Aruba 415x415+VD 44 * G0096

Qo
h a n S a 24()(63 Drawing/Zeichnung 3D Format

- Profile/Profil 44)(135 Scale/MaRstab Date 16062023




4870

| ® 4650
\

4350
4150
3950
3862

i

100

| 4150
1‘ 3950 ‘ L
i 3862 100 500
A 44
720
Tt
N S g &
= — T
‘ S Lk
T~
Wl ‘ -
wm
~
T . |
| g5 .
\ N ™~
\ N n
\\ "= ‘
o m
& 3
£n
< o o
& 14.92 m2 &2 =
[s=]5S)
m
wm
| ]
////’ M I
/ %% ‘ L
// "’?E "
/ =
A \ |
m
wm
‘ X
] j b
wl2 2

3862 100 500
A (AR K
0o Nome Aruba 415x415+VD 44 *Y" G0096
Al —
}] Ei ﬂ S {,_} 24 gt‘) Drawing/Zeichnung Pla n_G ru nd pla n Format A4
Profile/Profil 44)(135 Scale/MaRstab 150 Date 16062023




o

3930

3930

AT1

AT2 . L&
— — =l < = — — ==
< < < < < < <| || <>

AT2 =

L, 481 . 481 . 481 ., LB1 ., L81 ., 481 . 481
10 10 10 10 10 10 10 10
0o Neme Aruba 415x415+VD 44 *Y"G0096
hansa24 s/ oere= e Foundation plan_Lagerholzplan Format A4
Profile/Profil 44)(135 Scale/MalRstab 150 Date 16062023




Pos Model Pee Profile |Lengfh
Aruba L15x415+VD L4 (mm) (mm)
Notice! The gable pieces can be parfly pre-assembled!
Please natice - thase differ from the descripfion given in the specificafion list.
Achtung! Die GieBelbohlen konnen feilweise schon varmontiert sein!
Biffe beachfen - diese erscheinen nichf ganz so wie in der Teileliste beschrieben.
006 1&% 3862 spare log/Ersatzteile %O 1 L1y 135 1150
001 W - — 2 | 64x135 | 4650
002 & e — 2 | hLx135 | 4400
003 | ¢ & e 0 1| L4x99 | 4350
00t | Oy e & 1| 4Lx135 | 4350
005 [ e 2 2 | Lix68 | 4150
006 & e i 30 | 44x135 | 4150
007 it Jez i 1| LLx135 | 4150
008 T e 0 18 | L4x135 | 4150
009 o o 2 | 4x135 | 3380
010 T Sa— 2 | 64x135 | 1625
011 S 2 | h4x68 | 1127
012 e 28 | L4x135 | 597
013 EEE 20 | L4x135 453
014 T 1] 8 | LLx135 453
FOUNBATION BEAMS (impregnated) - FUNDAMENTHOLZER (impragniert)
AT ) 2 TOx4L5 3930
FOUNBATION BEAMS (impregnated) - FUNDAMENTHOLZER (impragniert)
AT?Z 8 TOx4L5 3790
FOUNBATION BEAMS (impregnated) - FUNDAMENTHOLZER (impragniert)
AT3 | 1 TOxLS 900
PURLINS - PFETTEN
PR - oo ) L | 70x145 | 4350
ROOF BOARDS - DACHBRETTER 2/ 5 139+ 113x18 4879
FLOOR BOARDS - FUSSBODENBRETTER 2/ /5 135+1 113x18 3857
Cell d Deckenleisten linside and outside - | d aufen] % 15x28 | S
eiling mouldings - Deckenleisten (inside and cutside - innen und aufien X cm/Lfm
17
Floor mouldings - Fussbodenleisten VA 18xL0 | e
Kood  Aruba 415x415+VD LL4 Materjal File ‘ Leht  1/6



AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Aruba 415x415+VD 44

AutoCAD SHX Text
1/6

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Aruba 415x415+VD 44

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
001

AutoCAD SHX Text
2

AutoCAD SHX Text
44x135

AutoCAD SHX Text
4650

AutoCAD SHX Text
100

AutoCAD SHX Text
3862

AutoCAD SHX Text
600

AutoCAD SHX Text
002

AutoCAD SHX Text
2

AutoCAD SHX Text
44x135

AutoCAD SHX Text
4400

AutoCAD SHX Text
100

AutoCAD SHX Text
3862

AutoCAD SHX Text
350

AutoCAD SHX Text
003

AutoCAD SHX Text
1

AutoCAD SHX Text
44x99

AutoCAD SHX Text
4350

AutoCAD SHX Text
200

AutoCAD SHX Text
3862

AutoCAD SHX Text
200

AutoCAD SHX Text
004

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
4350

AutoCAD SHX Text
200

AutoCAD SHX Text
3862

AutoCAD SHX Text
200

AutoCAD SHX Text
005

AutoCAD SHX Text
2

AutoCAD SHX Text
44x68

AutoCAD SHX Text
4150

AutoCAD SHX Text
100

AutoCAD SHX Text
3862

AutoCAD SHX Text
100

AutoCAD SHX Text
006

AutoCAD SHX Text
30

AutoCAD SHX Text
44x135

AutoCAD SHX Text
4150

AutoCAD SHX Text
100

AutoCAD SHX Text
3862

AutoCAD SHX Text
100

AutoCAD SHX Text
007

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
4150

AutoCAD SHX Text
100

AutoCAD SHX Text
3862

AutoCAD SHX Text
100

AutoCAD SHX Text
008

AutoCAD SHX Text
18

AutoCAD SHX Text
44x135

AutoCAD SHX Text
4150

AutoCAD SHX Text
100

AutoCAD SHX Text
3862

AutoCAD SHX Text
100

AutoCAD SHX Text
009

AutoCAD SHX Text
2

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3380

AutoCAD SHX Text
2736

AutoCAD SHX Text
600

AutoCAD SHX Text
010

AutoCAD SHX Text
2

AutoCAD SHX Text
44x135

AutoCAD SHX Text
1625

AutoCAD SHX Text
100

AutoCAD SHX Text
1481

AutoCAD SHX Text
011

AutoCAD SHX Text
2

AutoCAD SHX Text
44x68

AutoCAD SHX Text
1127

AutoCAD SHX Text
483

AutoCAD SHX Text
600

AutoCAD SHX Text
012

AutoCAD SHX Text
28

AutoCAD SHX Text
44x135

AutoCAD SHX Text
597

AutoCAD SHX Text
100

AutoCAD SHX Text
453

AutoCAD SHX Text
013

AutoCAD SHX Text
20

AutoCAD SHX Text
44x135

AutoCAD SHX Text
453

AutoCAD SHX Text
014

AutoCAD SHX Text
8

AutoCAD SHX Text
44x135

AutoCAD SHX Text
453

AutoCAD SHX Text
AT1

AutoCAD SHX Text
2

AutoCAD SHX Text
70x45

AutoCAD SHX Text
3930

AutoCAD SHX Text
FOUNDATION BEAMS (impregnated) - FUNDAMENTHÖLZER (imprägniert)

AutoCAD SHX Text
AT2

AutoCAD SHX Text
8

AutoCAD SHX Text
70x45

AutoCAD SHX Text
3790

AutoCAD SHX Text
FOUNDATION BEAMS (impregnated) - FUNDAMENTHÖLZER (imprägniert)

AutoCAD SHX Text
AT3

AutoCAD SHX Text
1

AutoCAD SHX Text
70x45

AutoCAD SHX Text
900

AutoCAD SHX Text
FOUNDATION BEAMS (impregnated) - FUNDAMENTHÖLZER (imprägniert)

AutoCAD SHX Text
PR1

AutoCAD SHX Text
4

AutoCAD SHX Text
70x145

AutoCAD SHX Text
4350

AutoCAD SHX Text
PURLINS - PFETTEN

AutoCAD SHX Text
200

AutoCAD SHX Text
3862

AutoCAD SHX Text
200

AutoCAD SHX Text
ROOF BOARDS - DACHBRETTER

AutoCAD SHX Text
39+1

AutoCAD SHX Text
113x18

AutoCAD SHX Text
4879

AutoCAD SHX Text
FLOOR BOARDS - FUSSBODENBRETTER

AutoCAD SHX Text
35+1

AutoCAD SHX Text
113x18

AutoCAD SHX Text
3857

AutoCAD SHX Text
Ceiling mouldings - Deckenleisten (inside and outside - innen und außen)

AutoCAD SHX Text
15x28

AutoCAD SHX Text
36

AutoCAD SHX Text
Floor mouldings - Fussbodenleisten

AutoCAD SHX Text
18x40

AutoCAD SHX Text
17

AutoCAD SHX Text
rm/lfm

AutoCAD SHX Text
rm/lfm

AutoCAD SHX Text
006

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
4150

AutoCAD SHX Text
100

AutoCAD SHX Text
3862

AutoCAD SHX Text
100

AutoCAD SHX Text
spare log/Ersatzteile

AutoCAD SHX Text
Notice! The gable pieces can be partly pre-assembled!  Please notice - those differ from the description given in the specification list.

AutoCAD SHX Text
Achtung! Die Giebelbohlen können teilweise schon vormontiert sein! Bitte beachten - diese erscheinen nicht ganz so wie in der Teileliste beschrieben.


Pos Model Pee Profile |Lengfh
Aruba L15x415+VD Lk (mm) (mm)
LA | Eave board - Traufenbrett 18x120 77777 777A | 1] 18x120 | k386
S%ﬁ Eave board - Traufenbreft 18x95 VA 18x95 | 4350
RKL | Eave cover slat - Traufendeckleiste 18x40 A | 1| 18xk0 | 4386
9.2
RLIOT-1| Eave slat - Traufenleiste 18x40 V) 18x40 | e
YEA | Gable board - Giebelbrett 18x120 77777772 | 2 | 18xi20 | 4897
XKH Gable cover slat - Giebeldeckleiste 18xL0 VA2 1840 | 4897
UV1 | Mefal bar - Metallstange @10 a ) | L 210 900
uv? Mefal bar - Metallstange @10 Q ) | 2 710 770
LK Hit block - Schlagholzer [E 3
2N57003 Nails - Ndgel 25x60 for floor boards - fur Fussbodenbretrer <=———— |560
N=0 Nails - Nagel vierkant 25x50 for ceiling boards - fur
7501 | Dachbreffer e |468
KRS | Screws - Schrauben 3.0x30  for ceiling mouldings - fur Deckenleisten — <ssssss] | 64
égdg Screws - Schrauben 3.0x30 for eave slats - fur Traufenleisten | | ()
KR-0 | Screws - Schrauben 3.0x30 for floor mouldings - fur
3003 | Fussbodenleisten 1|32
KR-0 | Screws - Schrauben 35x45 (3 for eave boards - fur
3525 | Traufenbretter (| 20
KR-0 | Screws - Schrauben 35x45 (3 for eave cover slats - fur
3526 | Traufendeckleisten 1|10
KR-0 | Screws - Schrauben 3.5x45 (3 for gable boards - fur
3527 | Giebelbretter (] | 20
KR-0 | Screws - Schrauben 3.5x45 (3 for gable cover slafs - fur 1
3521 | Giebeldeckleisten 20
KR-0 | Screws - Schrauben 5.0x100 for foundation beams - <H Ll
5080 | fir Fundamentholzer
KL1 | Threaded rod - Gewindestange M3 CODDDDDDDDDD DY) | L 2000
KL2 | Threaded rod - Gewindestange M8 DRI |2 559
KL3 | Threaded rod - Gewindestange M3 QDD | 2 325
Nut - Mutter M8 o) | ¢
Y
Washer - Scheibe M8x24 i
Extended nut - Langmufter M8 L
Kood  Aruba 415x415+VD LL4 Mater jal ‘ File ‘ Leht  2/6



AutoCAD SHX Text
Eave board - Traufenbrett 18x120

AutoCAD SHX Text
1

AutoCAD SHX Text
18x120

AutoCAD SHX Text
4386

AutoCAD SHX Text
RLA

AutoCAD SHX Text
02-1

AutoCAD SHX Text
Eave board - Traufenbrett 18x95

AutoCAD SHX Text
1

AutoCAD SHX Text
18x95

AutoCAD SHX Text
4350

AutoCAD SHX Text
RLA

AutoCAD SHX Text
01-1

AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Aruba 415x415+VD 44

AutoCAD SHX Text
2/6

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Aruba 415x415+VD 44

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Eave cover slat - Traufendeckleiste 18x40

AutoCAD SHX Text
1

AutoCAD SHX Text
18x40

AutoCAD SHX Text
4386

AutoCAD SHX Text
RKL

AutoCAD SHX Text
01-1

AutoCAD SHX Text
Eave slat - Traufenleiste 18x40

AutoCAD SHX Text
18x40

AutoCAD SHX Text
9.2

AutoCAD SHX Text
RLI01-1

AutoCAD SHX Text
Gable board - Giebelbrett 18x120

AutoCAD SHX Text
2

AutoCAD SHX Text
18x120

AutoCAD SHX Text
4897

AutoCAD SHX Text
VLA

AutoCAD SHX Text
02-1

AutoCAD SHX Text
Gable cover slat - Giebeldeckleiste 18x40

AutoCAD SHX Text
2

AutoCAD SHX Text
18x40

AutoCAD SHX Text
4897

AutoCAD SHX Text
VKL

AutoCAD SHX Text
01-1

AutoCAD SHX Text
Metal bar - Metallstange Ø10

AutoCAD SHX Text
4

AutoCAD SHX Text
Ø10

AutoCAD SHX Text
900

AutoCAD SHX Text
ÜV1

AutoCAD SHX Text
Metal bar - Metallstange Ø10

AutoCAD SHX Text
2

AutoCAD SHX Text
Ø10

AutoCAD SHX Text
770

AutoCAD SHX Text
ÜV2

AutoCAD SHX Text
LK

AutoCAD SHX Text
Hit block - Schlaghölzer

AutoCAD SHX Text
3

AutoCAD SHX Text
N-0

AutoCAD SHX Text
2503

AutoCAD SHX Text
Nails - Nägel 2.5x60   for floor boards - für Fussbodenbretter

AutoCAD SHX Text
560

AutoCAD SHX Text
N-0

AutoCAD SHX Text
2501

AutoCAD SHX Text
Nails - Nägel vierkant 2.5x50   for ceiling boards - für

AutoCAD SHX Text
Dachbretter

AutoCAD SHX Text
468

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3001

AutoCAD SHX Text
Screws - Schrauben 3.0x30   for ceiling mouldings - für Deckenleisten

AutoCAD SHX Text
64

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3002

AutoCAD SHX Text
Screws - Schrauben 3.0x30   for eave slats - für Traufenleisten

AutoCAD SHX Text
20

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3003

AutoCAD SHX Text
Screws - Schrauben 3.0x30   for floor mouldings - für

AutoCAD SHX Text
Fussbodenleisten

AutoCAD SHX Text
32

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3525

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for eave boards - für

AutoCAD SHX Text
Traufenbretter

AutoCAD SHX Text
20

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3526

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for eave cover slats - für

AutoCAD SHX Text
Traufendeckleisten

AutoCAD SHX Text
10

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3527

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for gable boards - für

AutoCAD SHX Text
Giebelbretter

AutoCAD SHX Text
20

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3521

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for gable cover slats - für

AutoCAD SHX Text
Giebeldeckleisten

AutoCAD SHX Text
20

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
5080

AutoCAD SHX Text
Screws - Schrauben 5.0x100   for foundation beams -

AutoCAD SHX Text
für Fundamenthölzer

AutoCAD SHX Text
44

AutoCAD SHX Text
KL1

AutoCAD SHX Text
Threaded rod - Gewindestange M8

AutoCAD SHX Text
4

AutoCAD SHX Text
2000

AutoCAD SHX Text
KL2

AutoCAD SHX Text
Threaded rod - Gewindestange M8

AutoCAD SHX Text
2

AutoCAD SHX Text
559

AutoCAD SHX Text
KL3

AutoCAD SHX Text
Threaded rod - Gewindestange M8

AutoCAD SHX Text
2

AutoCAD SHX Text
325

AutoCAD SHX Text
Nut - Mutter M8

AutoCAD SHX Text
4

AutoCAD SHX Text
Washer - Scheibe M8x24

AutoCAD SHX Text
4

AutoCAD SHX Text
Extended nut - Langmutter M8

AutoCAD SHX Text
4

AutoCAD SHX Text
rm/lfm


Poe Model pee| Profile Length
Aruba 415x415+VD Lk (mm) (mm)
Drive-in nut - Einschlagmutfer M8 @fv L
Kood  Aruba 415x415+VD LL4 Materjal File Leht  3/6



AutoCAD SHX Text
Drive-in nut - Einschlagmutter M8

AutoCAD SHX Text
4

AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Aruba 415x415+VD 44

AutoCAD SHX Text
3/6

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Aruba 415x415+VD 44

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)


Model Profile |Lengfh

Fos Aruba L15x4154VD 44 P mml | (o)
WINDOW 555x1830 1
W5-S4LP-0XT-05551830
555
W121-PT
/A\/ Right handed - DIN rechts
M Tempered glass - Gehartetes Glas
/\ Opens inside - Offnet innen
=] [
| ||
= [
A
/\ |
| \\
[l
VO‘WH—T Rain deflector - Regenabweiser g 1 36x13k 755
KR-0 | Screws - Schrauben 35x45 (3 for door and window frims - fur
3524 | Tir- und Fensterleisten 4| 26
KR-0 | Screws - Schrauben 4.0x60 (3 for rain deflector - fur ﬂ )
L00T | Regenabweiser

Kood  Aruba 415x415+VD LL4 Materjal File Leht  4/6



AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Aruba 415x415+VD 44

AutoCAD SHX Text
4/6

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Aruba 415x415+VD 44

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
WINDOW 555x1830

AutoCAD SHX Text
 W5-S44P-0XT-05551830

AutoCAD SHX Text
1

AutoCAD SHX Text
Rain deflector - Regenabweiser

AutoCAD SHX Text
1

AutoCAD SHX Text
36x134

AutoCAD SHX Text
755

AutoCAD SHX Text
VIHM

AutoCAD SHX Text
01-1

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3524

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for door and window trims - für

AutoCAD SHX Text
Tür- und Fensterleisten

AutoCAD SHX Text
24

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
4001

AutoCAD SHX Text
Screws - Schrauben 4.0x60 C3   for rain deflector - für

AutoCAD SHX Text
Regenabweiser

AutoCAD SHX Text
2


Model Profile |Lengfh

Fos Aruba L15x4154VD 44 P mml | (o)
WINDOW 555x1830 1
W5-SL4V-0XT-05551830
555
W121-VT
\/A\ Left handed - DIN links
M Tempered glass - Gehartetes Glas
| \\ Opens inside - Offnet innen
2 I
= || \/ﬁ
//\
// |
[
VO‘WH—T Rain deflector - Regenabweiser g 1 36x13k 755
KR-0 | Screws - Schrauben 35x45 (3 for door and window frims - fur
3524 | Tir- und Fensterleisten 4| 26
KR-0 | Screws - Schrauben 4.0x60 (3 for rain deflector - fur ﬂ )
L00T | Regenabweiser

Kood  Aruba 415x415+VD LL4 Materjal File Leht  5/6



AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Aruba 415x415+VD 44

AutoCAD SHX Text
5/6

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Aruba 415x415+VD 44

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
WINDOW 555x1830

AutoCAD SHX Text
 W5-S44V-0XT-05551830

AutoCAD SHX Text
1

AutoCAD SHX Text
Rain deflector - Regenabweiser

AutoCAD SHX Text
1

AutoCAD SHX Text
36x134

AutoCAD SHX Text
755

AutoCAD SHX Text
VIHM

AutoCAD SHX Text
01-1

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3524

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for door and window trims - für

AutoCAD SHX Text
Tür- und Fensterleisten

AutoCAD SHX Text
24

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
4001

AutoCAD SHX Text
Screws - Schrauben 4.0x60 C3   for rain deflector - für

AutoCAD SHX Text
Regenabweiser

AutoCAD SHX Text
2


L th
Poe Model Pes Profile eng

Aruba 415x415+VD L4 (mm) (mm)
BDOOR 880x1975 1
D5-SL4LR-0XT-08801975
880

] D102-RT
Right handed - DIN rechts
Tempered glass - Gehartetes Glas
Opens outside - Offnet aussen

2| |er
UIHEET Rain deflector - Regenabweiser § 1| 36x136 | 1080

KR-0 | Screws - Schrauben 35x45 (3 for door and window frims - fur q

3524 | Tur- und Fensterleisten 26

KR-0 | Screws - Schrauben 4.0x60 (3 for rain deflector - fur 3
4007 ﬂ

Regenabweiser

Kood  Aruba 415x415+VD LL4 Materjal File Leht  6/6



AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Aruba 415x415+VD 44

AutoCAD SHX Text
6/6

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Aruba 415x415+VD 44

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
DOOR 880x1975

AutoCAD SHX Text
 D5-S44R-0XT-08801975

AutoCAD SHX Text
1

AutoCAD SHX Text
Rain deflector - Regenabweiser

AutoCAD SHX Text
1

AutoCAD SHX Text
36x134

AutoCAD SHX Text
1080

AutoCAD SHX Text
VIHM

AutoCAD SHX Text
01-2

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3524

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for door and window trims - für

AutoCAD SHX Text
Tür- und Fensterleisten

AutoCAD SHX Text
26

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
4001

AutoCAD SHX Text
Screws - Schrauben 4.0x60 C3   for rain deflector - für

AutoCAD SHX Text
Regenabweiser

AutoCAD SHX Text
3


Gable cover boards

Giebeldeckleisten
Roof boards
Dachbretftfer
Gable boards
Giebelbretter

Roof beams
BachBbalken 14350

H Hl| 008
H Hl| 008
H Hl| 008
n Hll 008
n Hll 008
H Hl| 008
H Hl| 008
H Hl| 008
H Hl| 008
H Hl| 008
H Hl| 008
H Hl| 008
n Hll 008
n Hll 008
H Hl| 008

Wall/Wand A ~ [l il 008 —t

2295

i 3862 il

| 3906 |

0o Nome Aruba 415x415+VD 44 *Y" G0096
(
l.] a n S a 24 Q Drawing/Zeichnung Wa”/Wand A Format A4

Fofle/frofl 4 4x13.5 | e/mes 1:50 ¢ 16.06.2023



AutoCAD SHX Text
Wall/Wand  A

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
004

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
KL1+KL3

AutoCAD SHX Text
KL1+KL3


4350

e =R =R R N
IO N N RO N N NBEP N N N RO N N

Wasserleiste

Settling gap
Senkungs spalt

200 KL1+KL2
A7) 003
Hll 008
Hll 008
Hll 007
013 013 mll 012
013 013 mll 012
013 013 Hll 012
014 014 Hll 012
014 014 Hll 012 -
013 013 Hll 012 By
013, 013 mll 012
013 € 012 mll 012
016 < 014 HI] 012
014 014 mll 012
013 013 mll 012
013 013 Hll 012
013 013 Hll 012
013 013 , | Hll 012
010 o| HlJ 010
900 575 | 453 ||
L4100
3906 |
©
4150
N SKU
e Aruba 415x415+VD 44 G0096
) ich
}-] a n Sa 2 Drawing/Zeichnung VVa”/Waﬂd B

Profile/Profil 44)(13 . 5 Scale/MalRstab 1 : 50

16.06.2023


AutoCAD SHX Text
Wall/Wand  B

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
Settling gap Senkungs spalt 30-50mm

AutoCAD SHX Text
Silicon Silikon

AutoCAD SHX Text
Rain strip Wasserleiste

AutoCAD SHX Text
003

AutoCAD SHX Text
007

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
010

AutoCAD SHX Text
010

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
KL1+KL2

AutoCAD SHX Text
KL1+KL2

AutoCAD SHX Text
ÜV1

AutoCAD SHX Text
ÜV1

AutoCAD SHX Text
ÜV1

AutoCAD SHX Text
ÜV1

AutoCAD SHX Text
ÜV2

AutoCAD SHX Text
ÜV2


Eaves caver strips
Traufendeckleisten
Roof boards
Dachbretter

Eaves strips
Traufenleisten
Gable boards
Traufenbretfer

Roof boards
Dachbretfter
Gable beards
Traufenbretter
Eaves strips
Traufenleisten

Wall Logs
Wandbohlen

loor Mouldings
Fussbodenleisfe

-n

Floor Boards
Fussbodenbretfer
Foundation Beams
Fundamentholzer

4006 .

=T Y)‘m

——a = [009]w

001

i

H | 006

H | 006

m| 006

m| 006

m| 006

H | 006

H | 006

H | 006

H | 006

H | 006

H | 006

m| 006

m| 006

m| 006

H | 006

1005

Wall/Wand 1 B
T <(l_l

il

3862

104 44

|

3906

L4100

o

002

2565

hansa2

RO

0

Name

Aruba 415x415+VD 44

*“ G0096

OQ

Drawing/Zeichnung

Wall/Wand 1

Format A4

Profile/Profil

4.4x13.5

Scale/MalRstab

1:50

Date

16.06.2023



AutoCAD SHX Text
Wall/Wand  1

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
001

AutoCAD SHX Text
002

AutoCAD SHX Text
005

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
009

AutoCAD SHX Text
011

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
AT1

AutoCAD SHX Text
AT1


Wall/Wand 2 T

2565

[TT T T T TTTTTITTTITI]
=
=
aN

AT T T T T T T T T T T T 1117

3862

3906

L4100

Qo
han83248

ame Aruba 415x415+VD 44

*“ G0096

Drawing/Zeichnung Wa”/Wa nd 2

Format A4

Profile/Profil 44)(13 . 5 Scale/MalRstab 1 : 50

Date

16.06.2023



AutoCAD SHX Text
Wall/Wand  2

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
001

AutoCAD SHX Text
002

AutoCAD SHX Text
005

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
009

AutoCAD SHX Text
011

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
AT1

AutoCAD SHX Text
AT1


